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Lewis went to the shop and bought magazines for £13.80,
 some biscuits for £6.50 and a drink for £1.19
How much does he spend altogether?



A One Direction CD costs £18.40, whilst Little Mix’s CD costs £15.70.
How much more does One Direction’s CD cost?



Train tickets from Nottingham to Birmingham cost £37.20 for a single journey. A taxi between these cities costs £79. How much cheaper is the train journey?


Miss Mitchell bought some bags of sweets to fill up Class 4’s sweets tin and Mr Wilson bought some to fill up class 5’s tin. Miss Mitchell spent £45.89 while Mr Wilson spent£36.49
How much more did Miss Mitchell spend on sweets?


A child’s ticket to the cinema costs £8.60, whilst an adults costs £13.50.
[bookmark: _GoBack]How much would it cost for an adult and three children?



Hannah went shopping with £25.10, and bought some 
sunglasses for £7.80.
How much money did she have left?





